SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE

REVISIONS
[> NOTES R | av e APPROVAL
Wioos v 171572081 TLe
1. NON—IMPACT RESISTANT OPTION — .125" Y [ac27/21 ] TLC
MINIMUM DSB GLAZING MEETS UNIFORM STATIC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70° AND A MAXIMUM LENGTH OF 24.00", 13 GA HORIZ ANGLE
GLAZNG IS NGT IMPACT RESISTANT AND. DOES \
NOT MEET THE REQUIRI
WD BORNE  DESRIS. REGIONS,
2. IMPACT RESISTANT GLAZING OPTION — G DOOR |
IMPACT RESISTANT GLAZING SYSTEM MAY BE
INSTALLED IN_INTERMEDIATE SECTIONS (WITH 15 GA MIN HORIZ —__ | %
OR WITHOUT/DEOORAHVE INSERTS). GLAZING TRACK N ﬂ
SHALL BE 1/4" POLYCARBONATE. MAXIMUM
GLAZING DIMENSIONS SHALL BE 11" x 17°, 13 GA CONTINUOUS |
FASTENED WITH A MINIMUM #8 X 1° SMS: /ALL ANGLE .
ALONG. THE HORIZONTAL ANA 2% ALORG THE H L = |
VERTICAL H e y
15 GA MIN_VERT : < :
3. ALUMINUM FULL VIEW OPTION — ALUMINUM TRACK . o/ [ L
FULL VIEW SECTION MAY REPLACE ANY N H H P X <
SECTION EXCEFT ToP AND BOTIOM PANELS. H ' i
MINUM 6"X1-5/8" — H ° e
R D ShEES OF BXRJDED. ALUMBN LAG SCREW AT E,(& H | : 20 GA CENTER STILE o)
AL, SO0 MG 125, i 09 HoE Locknan For AN
ALUMINUM X H
RETAINERS IN ORDER TO MEET UNIFORM D S s I = (o)
STATIC DESIGN PRESSURES SHOWN ON THIS 70 OTHER SUBSTRATES. AN~ |
DRAWING. AFV PANEL SIZE IS 45.5°x21.6 I
(MAX). GLAZING IS NOT MPACT RESISTANT 1 ;=
AND DOES NOT REQUIREMENTS FOR i I\ s
WIND_BORNE DEBRIS, REGIORS. H ; l A
4. MINIMUM OF 1" OVERLAP ON BOTH JAMBS %’,\é{‘g&%’?/}ﬁn ~ i Pl 4 0y
REQUIRED TO MEET NEGATIVE DESIGN : l H Ad
PROSSURES. 1/4-20 HEX NUTS AT H \H D
EACH TRACK CLIP ; iH | _
5. SUDE LOCK OR OPERATOR REQUIRED. LOCATION 20 GA END STILE: SHEET S
(SEE DETAIL A SHEET 3) . v
6. SECTION STEEL TO HAVE THE FOLLOWING _/ K — I
MINIMUM_THICKNESS: 11 GA TRACK CLPS I 7, —
421, 423 — 20 GA (WELDED, BOLTED, OR o A
427, 429 - 24 GA RIVETED TO WALL iﬁ/‘—i ;
434, 436 — 25 GA ANGLE) SEE NOTE 8 AND : _7__./]‘: >
7. THE DESIGN OF THE SUPPORTING DETAIL F SHEET 3 H =7
SRl S st oo o sw— I
RECORD FOR THE BUILDING OR ("°JP§,§§$<',%E°_ s P 0
AND N ACCORDANGE WITH CLRRENT BUNDING NOTE 5) . e
CODES FOR THE LOADS LISTED ON THIS H bl
DRAWING. g’ °
] o
8. TRACK CUPS SHALL BE LOCATED Wt \
CENTERLINE OF BOTTOM CLIP SPACED P ;
WAX FROM: BOTIOM O TRACK AND. REWANING l A
TRACK CLIPS SPACED AT 24" O.C. MAX. h L)
SPACING BETWEEN TOP TRACK CLIP AND => Koo / br
SPLICE PLATE SHALL BE 30° O.C. MAX. 3 < )= [
9. WHEN MOUNTING TO WOOD, DOOR JAMB TO \C/
REFER 10 9aul CONNECTION. SUPPLEMENT - i =
AMI
FOR ATTACHMENT TO SUPPORTING NOTE:  (4) SECTION SOLID DOOR . l 0]
STRUCTURE. SHOWN. SEE SHEET 2 FOR U-BAR H \ X
LOCATIONS ON DOORS WITH OTHER H
SECTION QUANTITIES AND SEE NOTES A ﬁ o |
1,2 & 3 OF THIS SHEET FOR GLAZING H _—
OPTIONS. h
i - —
)

MAX | poor MAX UNIFORM LOAD EACH JAMB
DOOR | peiGHT

WIDTH

o—4" | AL +204.6/-231.6

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +44.0/—49.8

MAX WIDTH: 9'-4"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24]

E
alzj,q)1
Christlr
Voelke

J. C. VOELKEL

Digitally signed by
John Christian
Voelkel

Date: 2021.05.03
10:11:16 -05'00'

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

\WINGS AND ALL

lllllllli"lnlll.lllllin"l/

hon 133174 ‘g

[N

8

7 I

Qe
A TRt o

REF_DWG

PROPRIETARY PROPERTY.
ANYDNE WITHOUT THE PRIDR WRITTEN CONSENT OF

ruvmmmmmmumrrsmum

OTHER INFORMATION HEREIN ARE THE COMPANIES.

AND INFDRMATIDI N.]NVI’I].EW]NPART,HAYNDTEGBPEH]NW MANNER R DISCLOSED TO (OVERHEAD DOOR MAT.IDN. mmu.usum:u-’
mvD’Tlnsmvmumnl-'mmlmmmunmw:mTEASALmlsEmmernmnmus:nmmmsmnnm:wsﬂr'cvmmﬂ uvmnncmm
m UWLESS OTHERVISE SPECIrIED FINISH | vie tiomuine. The cirigint DATE

VHOLE g — INH.DAI'I OPTION CODE 2066
ek 23t e 003 | NUMBERS * 25 N/A : ™" Clark | 871272020 s—e‘“ 423/427/489/434/436,
TO 500 +006/-003 | x + 1 [UNIT OF | ™remns Checke) Bn PSF, 94" WX
Visa0 wd vias uvzn S00_+008/-.003 XX + 03 | MEASIRE J QIAN 121/21 e
E) Mreens XXX £ 010 N/A WPROVED BV S=°D- 411782
SN * 1/16 amGes 5 | EA T CLARK | 4/27/2! |ows N7A  Jomrio3



chris
Texas


3 2 |

1/4-20x9,/16" TRACK BOLT
AND 1/4-20 HEX NUT

THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP.

12 GA COMMERCIAL TOP FRAME /
BRACKET WITH 13 GA ROLLER i
CARRIER ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

ADD (2) 1/4—14x7/8" SELF TAIL
DRILLING CRIMPTITE SCREWS DETAL B
(INSIDE OF EACH INSIDE END HINGE,

2 STEEL ROLLER WITH .
Sds STEM AND 7/16" .
NUT AT EACH ROLLER /
LOCA110N. 1/4" MAX :
BETWEEN PUSHNUT AND !
BRACKET OR HINGE ;

14 GA WIDE BODY END
HINGE TO ATTACH SECTIONS
ONE AND TWO.

Al
REMAINING SECTIONS. FOR
ALL, ATTACH WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS 7

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4-14x7/8" SELF

DRILLING CRIMPTITE L2 —
SCREWS SOUID SECTION AFV SECTION
DETAL D
12 GA BOTTOM BRACKET _/'
ATTACHED WITH (3) /
1/4—14x7/8" SELF DRILLING ;
CRIMPTITE SCREWS
T QQ\\\\‘\
DETAL E — OF TE‘P
’p« JETTTITII, R 4
; 9. %
el
’ .

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 9'-4"

DESIGN PRESSURE(PSF): +44.0/-49.8 MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24]

[ —~—
\

¢? J.C.VOELKEL

 oecsececcccscccccce

R
3, 13317
W

8 7 |

\\

‘o s o CENs?fo o —]
WS e
A\ QU g

) 1/4—14x7/8 SELF DRILLING
CRIMPTITE SCREWS

HALF HINGE
(2) 1/4 x1/2"

CARRIAGE BOLTS AND
1/4" FLANGE NUTS

ATTACH U—-BARS WITH
(2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

(6) SECTION DOORS WITH
(9) 3° 18 GA 80 KSI U-BARS

(5) SECTION DOORS WITH
(8) 3° 18 GA 80 KSI U—BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

THE DRAVINGS AND ALL MATION CONT/
N,me.E[RmPART,HAYNDTEcﬂPIEIIINMNWIER[R
INFORMATION IS INTENDED

AND INFDRMATIDN DISCLOSED T CONSENT OF OVERHEAD DOOR
ANY OF THIS DRAVING DR TD[PERATEASALMISE[RMII‘H[R]ZATII]NTDLBEHFIRMVHRPBIV‘IHMTHESPEW'CVW

4

(12) SECTION DOORS WITH
(18) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH
(17) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH
(15) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(14) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(12) 3 18 A B0 KSI U-BARS
OCATED AS SHOWN

(7) SECTION DOORS WITH
(1) 3* 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

LOCATED AS SHOWN

AND PROPRIETARY Wnrwmmmunmmumrrsm
ANYDNE VITHOUT THE PRIDR VRITTEN OF

The Gemuine. The Criginad DATE

ATERIAL

\TED COMPANIES.
MAT.IDN. NO nm.usun: OF
IIIISBIT I‘.IVERH DOOR

CORPORATIDN.

e [ B oy cone
Gt Xy e | MR ok | 821272000 4217423/
0/-49.8 PSF, 9-4* MAX

2066
'427/429/434/436,

RIAN 1a1/21

N/A B D- 411782

APPROVED BY:
T CLARK | 4/27/21 oo™ N7A

[sm2 o 3

1



chris
Texas


8 7 6 S 4 3 2 1
MIN 3/16" THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE: 60X MIN DLO= 5"X20"
TRACK CLIP
. OPTIONAL; WALL ANGLE MAY BE ATTACHED TO
1/4-20x9/16' SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
TRACK BOLT AND SELF DRILLNG SCREW WITH 1" 0.D. WASHER AT
1/4-20 HEX NUT EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
FOAM TAPE
BUTYL TAPE -
/47 SNAPBERD PLASTIC FRAME
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"
(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
2 3/4" 2 3/4°
UPPER INT.
VITH 225 FIN
1264 scaa BRA( (OPTIONAL)

BUTYL TAPE

ALUMINUM FULL VIEW FRAME
7
!
!
CONTINUOUS Tree ]
WALL ANGLE )<—TRACK i
-, EXTERIOR
/ Ay FRAME \
(2) 1/4" X 7/16{ \ \
SEMI TUBULAR -l .
RVITS OR (2) | : N
1/4"=20 TRACK \ /
BOLTS WITH NUTS" /
OR .28" DIA C—TRACK
RESISTANCE SPOT 1. cuP
WELDS

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +44.0/—49.8

MAX WIDTH: 9'-4"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24]

8

7 I

"

3/8" SIMPSON TITEN HD,
2-3/4" MIN_EMBED INTO
2000

/,-'—/—1 /4" POLYCARBONATE

L anee vm 1/4-20 TRACK BOLT
AND 1/4—20 FLANGE NUT

SINPSON TITEN HD,
WALL ANGLE FACING
INWARD

8 ymers

1/4-20 HEX NUT-

NN _3/16° THICK
STEEL FOR MOUNTING:

NOUNTING WALL ANGLE-

TRACK CUP:

1420006 SUPPORTING STEEL WTH MIN. (1) 1/4—20x7/8°
T AND SELF DRILLIN WITH 1 O.D. WASHER AT
1/4-20 HEX WU EACH Hu.: OR PAIR OF HOLE LOCATIONS IN
TRACK UEU OF WELDING
MOUNTING TO STEEL DETAIL

r4 J. C. VOELKEL 9 A DTN o L i B BART b T ) COPED I YA O TS0 YE A UITHT T PRI RTIEN GO (5 IVEREAD (0 CRPATION 6 DSOS
'.,,.._.,,,_“,""_"","_."4 ANY (F THIS IRHVING (R IETRMTION 1§ INTENDED TO DPERATE AS 4 LICENSE (R AUTHIRIZATION 0 USE IT FIR ANY PURPOSE VITHINT THE SPECIFIC VRITTEN CINSENT [F (VERHEAD DOLK CORPIRATION
' .'. i & 3 e ——{VINL® v DAI'I OPTION CODE 2066
<% 1 1 74 o Q’ T CLARK 8/12/2020 s-,e‘“ Pg/;ﬂ{qsz{qsum,
" 'po.'-. ¢ 33 O ...'é(/ J’ ol | verer B D 411782
'q‘&é--.{?ENS?:. '6\%.’ REF_DWG "Ttiare | 42772 | —wm [=3o3
WOSIONAL BN 2 1



chris
Texas


	2066 411782-rA SH1
	2066 411782-rA SH2
	2066 411782-rA SH3

		2021-05-03T10:11:16-0500
	John Christian Voelkel




